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ST HEA /hTeraT fieres / Hioie R

q% : 2 A1 THUT TEH ¢ 200

TRIT IT0T : 200

1. ‘fufonr’ & svrear gepn fagyor g ?

INREICREE (B) Tt faiyor (C) ardifires fagiyu
waeler araardler ste Raa sregrear fagtyurrs wer aes@r, 9e EHis 29 3.
2. fowered SR e sraan.

(A) gemenfeg fagiwr  (B) wrquif fgwer  (C) sreradiRe fgive
3. YyuT=ed g,

CNRERINCHLU] (B) et fagivor  (C) ek fasgour
W Ry ferarran e efeswl. wgH i 49 5.

4. Tsra Rrareatyn Rergda.

(A) YU Tz (B) faert fapurge (©C) 3wufae foryiuz
5. qrETel ude s Udid dretad ad sy ?

(A) agF frarg (B) wFisias ferarag (C) iR fopamg
6. WreATAh Rvrar vrse fEramg a1 ?

(A) Tl (B) 3quul OEEL

7. SIS 41 USE 10 7 SR ysdrar YeHr sies.
(A) Tasiyur (B) (C) Gl gy
8. @reflet wseTellet syu=idl sreuy e,
(A) 42 (B) YA:graT (C) aeh
9. YL AUl YISLIRT YT T ?
(A) =19 B) frafanvu g (C) wreg srsuy
10. ‘B4 B STeE H1UIEUT A1 R WIS 7
YR EEICERIL B) fayam (C) ®T Iy
11. @31EE 41T T veman. sanfad sis wiviear wennd e sz 7
(A) QR (B) #T~siE (C) &S fErag
12, Tqu=h Yeu S SEIEy T 2R Qe TET $152 FordT 7
(A) #Te (B) dte (C) v3

(D) HrReaTgraes fergiyu

(D) fAfirfagivu

(D) wwavae fagyor

(D) A frafia g

(D) st ferumge

(D) v

(D) ferenfasiyor vy

(D) =&ursl

(D) fasiyor

(O) faere amg

(D) *o&drash

(D) w3
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

2.

“geft emeert sEdY An areRTdiel wseAnll sveuy e,

(A) uaht (B) #re (C) ;
ararTdier Tty stiesar.
AT WrefH I

(A) @ (B) = (C) vy

YR Red wrsarll st se@l.
aviiar e et snd) vneed @,

(A) TIHEEF (B) Ofcarrass (C) wiEarash

Qerardl farg e et ur araardier sseaiil ssgy sl

(A) i (B) 21 ©) farh
e whiviet fasiferan 318 d siiean.
M A 9% T,

(A) Teefen (B) Tl (C) =gl
ey shiviedl fsrRn 1R q sl
CICIEICRIGIGRSCE I TR

(A) HTT (B) 3tfersmuur (C) 4yer
@ielieldh! deay s !,

(A) st (B) T ©) @d
“Tiyes’ ur wisaretr yaldl vise sfiasan.

(A) 918 (B) e (C) ¥
‘aret’ AT iseTdT Ay faue sitesar.

(A) TG+ (B) Y+ (C) 37+5%
‘Tt g1 wisgrar g .

(A) B+35a (B) wl+35ay (C) wh+5at
Yot w1 yrsgTe fang e,

(A) gAi+3=a1 (B) HA+3EwT (C) TAt+w
“wr Tiid . ki STiesEl.

(A) wfisueres (B) aduTeRias () Ufd seameRTEs

g Gigafedt e | - STeihT s,

(A) ARaRe (B) ®uF (C) ¥Fad
gerft grafaarr Fgd) Sivid e STt ?

(A) Toarem (B) wgersH (C) F¥eherar

I

(D) el

(D) ultuimares

(D) wm
(D) "

(D) F91&H
(D) =l

(D) IR
(D) T+t
(D) B+E5a
©) yF+zesn
(D) dehie
D) g

(D) usHaaT
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

“yefer” et sTreswn,

(A) Tl B) T
‘@8 ar ysera whiem w7

(A) & (B) Tl
‘et T SteaTaT wHTe vrsg STvesEr.

(A) GaET (B) feres
wrefferteh! aqgussfenll amifles wss e

(A) TERH (B) qruIred!
wreAterdehl usraaH a1 v 7

(A) F (B) &
wrellendsh! a1qul e wresiedier fhanag wivid 7

(A) STTST SFHd (B) smmed 3R
BTG A1 LT UHTIEY HI0Td 7

(A) BISEAT (B) wifgel

ToreT 2 TS Yeud Y S 7

(A) wagr-diar (B) g=nfi-wey
SUTET AT ATET a7 syt vee.

(A) FrreT (B) et
gea yeTiud vl s ey

(A) HemE (B) yema™
S TG TG [ Ja 372 Ar 37eff Avwy w8,

(A) 3FTfaeh (B) A
“fiygeael reurs

(A) st areumg (B) #ft wnomy

TR I YT 319 STl
(A) TEE =TT AT
(C) =TIz =¥ HAT
WY GEF GEA T SR
(A) el (B) s
CHTHET ST 3 SRE] AT YAk Radh i 7
(A) SERUTIHATS
(C) iz wmaa

(C) et (D) “welfen

(C) K (D) &8

(C) unx (D) wegweh

(C) SSET (D) e&dges
©) Raad (D) W

(C) smred (D) smTEE ImRd
(©) wiged (D) wreh

(C) wwerl—ergeff (D) Taeltar—ergoft
(C) HERK (D) JRTHT

(C) Heandl (D) GeawE

(C) Irrfien (D) rE FEAAT
(C) ¥ eI (D) Hrerads TRUIN

(B) resii+l gty f¥reRfact
EECEIECEECII S

(C) erHuft (D) wehivi

(B). YTHTLE WU
(D) e vy
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42, ieha ST GEUTRTe SHerrr ST,

sffepsor g H Al |
Rrgare wa # 7-ad |
(A) TN (B) Irugl (€) afigrdih (D) &I

43, ‘vt o1 e fagel wse Frerer.
(A) G (B) TH O (D) &M
44, ‘ST SRS WA . AT HTRTAREAT Frgtar ApT B,
(A) TSR BT 30 (B) & 7 2l (C) HHMAY 2 (D) T 39U
45, ‘o8 WA YUl AT STEYIRTHT 37ef g 7
(A) a1aT gy (B) AL FW (C) gerst FHul (D) ges mrav
46, “arasll wsarnd) faegreff wsg e,
(A) TEgTel B) ferswe (GRELECH| (D) &I
47. % i arse aver Al - g A w0
(A) ¥ &R FeUIaR 38 (B) 2 se A=) 3R (C) B &R I AR (D) % 3tam Inrdie A1 TR

48, Yo fage, Yoo fager a1 e SR fvesdl.

(A) TR (B) 3= (C) gwra (D) ®U
49, ‘sRmTH Sl 33 frez el ar reunfiar sl Feer.

(A) s sty @ o (B) Sisig gl

(C) TuH Az Hguur et (D) wrTer Aoy e ol

50, WIS IUHIT S SIUR ALY a1 AR 275G EEES
(A) FaF (B) A ©) ffee (D) Harft

51. Choose antonym for word 'Bridge’ -
(A) Open (B) Divide (C) Release (D) Bind

Note : The following sentence consists of a word or phrase which is underlined each of them is followed by four
words or phrases, select the word or phrase which is closest to the opposite in meaning of the underlined
word or phrase.

52. A lady of a few words she is given to lagonic answers.
(A) copious (B) lingering (C) terse (D) brief

Note : The following sentence consists of a word or phrase which is underlined each of them is followed by four
words or phrases, select the word or phrase which is closest to the nearest or same in meaning of the
underlined word or phrase.

53. Her views are not incgnsonance with her husband's.

(A) indisagreement (B) in conflict (C) inagreement (D) contradictory

54. Choose synonym for word 'False’
(A) Incorrect (B) Inaccurate (C) Untrue (D) Defective

SPACE FOR ROUGH WORK
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Note : Four alternatives A, B, C and D are given under each sentence, you are required to choose most suitable

55.

56.

57.

58.

59.

60.

61.

82

alternative to fill in the blank/blanks in the sentence to make it meaningful. (Q. No. 55 to 57)

A politician's speech mustberead ______ __thelines, itmay have a double ___ _ .

(A) behind; edge (B) between; meaning (C) among; ends (D) beyond; face

_eye-witness, the news reporter gave a graphic description of how fire broke out.
(A) reporting (B) observing (C) seeing (D) quoting

. myknowledge, Mr. Ashok has a prejudice ____ __ foreigners.
(A) in; for (B) as;towards (C) for; at (D) to; against

Choose correct spellings from group of given words below
(A) Pleasant (B) Pleasent (C) Plesant (D) Plisant

Choose the one which expresses the meaning of 'Pros and cons'.
(A) For and against a thing (B) Good and Evil
(C) Former and later (D) Foul and Fair

Choose the meaning of phrase — To bell the cat'.
(A) To tie bell to cat's neck (B) Tomake noise
(C) Totake alead in danger (D) To be alert of enemy

A word no longer in use
(A) Extant (B) Nervous (C) Obsolete (D) Outdated

. A person appointed by two parties to solve dispute
(A) Advocate (B) Judge (C) Barrister (D) Arbitrator

Replace the words/phrases underlined in following sentences so as to make them meaningful and eftective
(Q.63&Q. 64) ¢}

63

64.

65.

66.

67

. He did not know the answer and | did not neither.
(A) and either did | (B) and either did have (C) and neither have | (D) and neither did |
Pashupatinath is a worth seeing temple in Kathmandu.
(A) one of the worthseeing temples (B) atemple worth seeing
(C) atemple to see its worth (D) nocorrection
'l had gone' ~ Identify tense of the sentence.
(A) Simple past tense (B} Simple presenttense
(C) Past perfect tense (D) Present perfecttense
'Who teaches you English ? ' — Select a sentence in passive voice.
(A) By whom are you taught English ? (B) English is taught by whom ?
(C) By whom will you be taught English ? (D) By whom were you taught English ?

. She said to him, "Why don't you go today ?" — choose the alternative in indirect speech.
(A) She asked him why he didnot go today (B) She said to him that why he didnot go today
(C) She asked him if he was going that day (D) She asked him why he didnot go that day

Choose the correct alternatives from given below (Q. 68 to Q. 70)

68

. Mumbal is one of the biggest cities in india.
(A) No other city in India is as big as Mumbai  (B) Mumbai is bigger than any other clty in India
(C) Very few cities in India are as big as Mumbal (D) Mumbai Is the biggest city In India
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69.

70.

71.

72.

73.

Note:
74.

75.

76.

77.

78.

79.

80.

Note:

81.

5 R

Radhika was too weak to walk.
(A) Radhika was so weak that cannot walk
(B) Radhika was so weak that she could not walk
(C) Radhika was so weak that Radhika could not walk
(D) Radhika is so weak that she cannot walk

No sooner did I finish the work than | fe't comfortable.
(A) Hardly had | finish the work when | felt comfortable
(B) Hardly did i finish the work when | felt comfortable
(C) Hardly had been | finished the work | felt comfortable
(D) Hardly had! finished the work when | felt comfortable

His houseis . tomine.— Use proper form of adjective.

(A) nearest (B) nearer {C) near (D) next
Identify the wrong contracted form

(A) We have —we'll B) ltis ~1t's (C) ishall—1l (D) Whatis —~What's
The rainfall . India varies ___ .. place to place and also from year _____ year.
Use proper preposition.

(A) over; with; by (B) of; from, after (C) in; from; to (D) for; with; after
Complete the sentence with proper word from alternatives. (7410 Q.79)
Heistoo . tobedeceived easily.

(A) intelligent (B) strong (C) kind (D) honest
The bureaucratwas _________for his role in scam.

(A) indicted (B) criticised (C) reinstated (D) indited
He ____inwearingtheold fashioned coat inspite of his wife's disapproval.

(A) resists (B) desists (C) persists (D) insists
No sooner does he arrive thaneveryone _____ ... Up in his honour.

(A) stand (B) stands (C) stood (D) got
TheSun _________ atsix this morning.

(A) arose (B) rose (C) aroused (D) raised
Washingmachines .. . _popular in India in the last ten years or SO

(A) are becoming (B) are become (C) became (D) have become

Choose masculine noun for feminine noun — '‘Bee'
(A) Peacock (B) Drone (C) Tiger (D) Bull

In the following passage there are blanks each of which has been numbered. The suitable word forthe c 27«

has been mentioned against the question number below passage. Choose the appropriate word in the cc™ =

of the whole passage. (Q. No. 810 90)

Tea prices in the domestic 81 continuetorule highinthe82 ______ year despite the expecta: =~ >°

a83 _ production as compared to the previous year. According to a preliminary assessme™
___ontheweather85 . in recent months tea output in 1990 may reach 740 million kg. 23

700 million kg. last year. During the past three months, tea prices have generally shown an 87

unlike last year, when tea prices rose dramatically, this year, prices seemto have88 ___ ataratrs ~In

level. In the subsequent four months, the89  ___ average price showed a downtrend but in Sepiz~Z2r

the priceshave 90 ______ hardened to a considerable extent.

(A) sector (B) production (C) area (D) market

5

=
=
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82.
83.
84.
85.
86.
87.
88.
89.
90.

(A) current (B) first

(A) large (B) maximum
(A) conducted (B) based
(A) outbursts (B) outbreak
(A) above (B) per

(A) downtrend (B) increment
(A) increased (B) surfaced
(A) monthly (B) weekly
(A) then (B) never

103
D) last
D) higher
D) strategy
D) forecast
D) against
D) uptrend
D) stabilised
D)
D)

annual

(
(
(
(
(
(
(
(
(

since

Directions: In the following questions the first and the last parts of the sentence are numbered as 1 and 6. The rest
of the sentence is split into four parts and are named as P, Q, R and S. These four parts are not given in their proper
order. Read the jumbled parts of the sentence and find out which of the four combinations is correct. Then find the
correct answer. (Q. No.91to 100)

91.

92.

93.

94.

1 : 1 have not come

P : even if it means some humiliation
Q : but the boy must learn

R : to complain, he said

S : to be honest

6 : and admit he broke our window pane.
(A) SPRQ B) QSPR

1 :India has been a land

P : but in the sense that learning has always been very highly valued

) RQSP

Q : not indeed in the sense that education has been universal
R : and the learned man has been held in higher esteem

S : of learning throughout the ages

6 : than the warrior or the administrator.
(A PQSR (B) RQPS

1: It was obvious

P : made by him

Q : submitted at the meeting

R : from the comments

S : on the draft proposals

6 : that he was not satisfied with them.
(A) QRSP B) SQRP

1 : Lakhs of students

P : on all india basis

Q : from all over India

R : which are held

S : appear in the examinations

6 : by different recruiting organisations.
(A) PQSR () SRQP

C) RSQP

) RPSQ

(C) QSRP

(D) PRQS

(D) SQPR

D) PSRQ

(D) QSPR
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95.

96.

97.

98.

99,

100.

1 : There is a fashion now-a-days
P : as an evil
Q : who is born with a silver spoon
R : to bewail poverty
S : and to pity the youngman
6 : in his mouth.
(A) PSQR (B) RSQP (C) RPSQ
1 - Those that have seen the Hindus
P - have naturally no more doubt
Q : of the existence of other persons
R : among them in their own country
S - of their existence than they have
6 : whom they have met.
(A) PSQR (8 RQPS (C) PSRQ
1:1wasn't sure
P : to hear his voice
Q : in my heart of hearts
R : through that window once more
S : what | really wished

& - or never to see him there again.
(A) QPRS (B) SQPR (C) PRSQ
1 Yet so few of us have
P : walls of daily routine
Q : the time or the means
R : that enclose our lives
S : to break through the narrow
6 : to get to know this land.
(A) SRQP (B) RPSQ (C) QSPR
1 : Religion has been used
P - both as a weapon of isolation
Q : to dull awareness
R : about real problems
S : and as morphia
6 : like education, health and employment.
(A PQRS B) PSQR (C) QPSR
1 - When all the members were seated
P : during the previous year
Q : the secretary came to the dias
R : and read out the report
S : detailing the activities of the organisation
6:

and plans for the coming year.
(A) PQRS (B) SPQR (C) RSPQ

SPAGE FOR ROUGH WORK

Oy SQPR

(D) RPSQ

(D) RSQP

0y PQRS

0y RPQS

(D) QRSP
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101.

102,

103.

104.

105.

106.

107.

108.

109.

110.

111

112.

113.

wreflerdehl weh snel fraer,

(A) gfi-grEe (B) SHTI-SRGHH / HRBRHH

©) Ha-zrEm (D) EYEI=AT AUATd &R SHIT ~ 35%

wrefierieh) R sl e ?

(A) e gayERIe - U sigaee (B) gsAral @ - Y Shaacd

(C) M= - sfiaFuea (D) el - “of’ Sfaveeg
el et il smividt 7

(A) fuszry yarafa fagaq - sires (B) 37 AR qTL ) ~ Srawre]

(C) T qam gl - SR A (D) arats i Frifia ol - wgfis
qTET eI Ay Sugrardl whturedt IF JTaRdrd

(A) |y (B) 18T (C) HHIR ) foar 73
“fudes’ 2 wiftysr sivredr arqurgd sefae s ?

(A) a8 + HIsee B) dis +3Fyffrn  (C) S + wefte (D) @is + Srl
Wreftetehl Sehi=h St wivrdt ?

(A) 'O @TE ~ | Brkgrdr (B) THEIET €T ~ GRIYUGA

(C) TarIaT SN} sadl - TeRTaTA (D) 'B' WMIE - qeme
ud geflard @ g wRf qTtaR B 3.

(A) 3eh=ar (B) Usfrem C) sfearza (D) wEyi=ar

Rt WigHiAT SR ST TT AT, HRVT @] U1
(A) IWRY gales AR (B) IWRET YATEE AR (C) 38T T S (D) IwrET Yy O A

aroft sifier e sifiriarelt T gon=n gt @1 F1 FeuET 7

(A) I B) = (C) 3idles (D) siféfirm fafed
3wy yRyTeltet stengrarelet qivard snedisrad Juaiard) SensrRITEdT YsSTeR wgrufa freamman s,
(A) afea sreenterer (B) T maTan (C) Teaeft (D) frTemeefa

‘STRE e wea™ fRdld) enven ol g e SEd - HRY
(A) SFTLAT YHRITT SaeuTyel Yet araa (B) ST €T HAURGYIH 32
(C) R4 ygeur wiger fagd var fmfu gt (D) IRl wegehla srdat

GTeATerdeh! FT0raT FF e gk H1d) ?

(A) G (B) aferrar
(C) RIRIETI ZTa HIva (D) EHET
TR edT G0, IR YT U, AT GRIERT AT SIS YEIEE T st T TR,
(A) ferrfird (B) qgewriEmt el
(©) fSermfye wyrf afiyeft (D) fammia sty
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114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124,

125

126

A0- AR

arded g g Ree

(A) Frranht v - EUCQ B) Hereh wigum - Sl

(©) Tl wfem - e D) f&.du. vl (smar) - 9
T T Tt A Gk Shio ¢

(A) TRIfe YT (B) HRALA (C) I (D) warl
v Tersarer ‘R Rrdmefy’ &1 0 ol fafeen 7

(A) g (B) sheed () wresrrer (D) Gh
qriftya afeel sies AT el

(A) ST - e A (B) W& ~ TafEn i

(C) HTS - TEHIIE FrsaTel (D) 3¥heR —eH,
A ofeelt TeoE B

(A) TS (B) TS (C) TR (D) TS

ugqeﬁmﬁa@mﬁw@aﬁ#ﬁmmmm?
(A) TE, T & fere T e
(B) SAehETT I U@l 4ae
(C) e, TSIET, FyereresT @ fare ity Ge8d
(D) des AT HEH

qwﬁa@éﬁﬁﬁquﬁaﬂmaﬁm
(A) it i FEAdeERT 3R (B) e e 3 e o AT
©) TR T T S T (D) careht svefa 3 e i fire 3R
Sy TR ST Teied! HT STARIAE TV SlieEd .
(A) 3T wmm (B) SHIIAT TR (C) T ETH (D) fErarsit g
s geeliatien eumed ffr 323 iat 7.
(A) 8 B) 5 ) 10 D) 4

T ‘éfmaﬁm’rﬁmwmgma@wwmm@mﬁmmaﬁa\ramaﬁaﬁwmgam
FH=A1

(A) R BSe (B) | TETA (C) Pz Big (D) TRUE B3
I €15 1CI L LA g rgEr o ST SHIUT IR,

(A) TR (B) ‘:mtrrr'ra{ (©) feurarsit (D) HEATET

(A) THTH TSH @) . geaE ©) dY. TrsH (D) T IR, &

. @l siorr M & aeraearear sl gl 7
(A) wHeEl (B) TdTEYI (C) T (D) =l

T
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1

127, Howgier 3 9 sy arear 529 = tora amy e Bl 7

(A) Bfery (B) TSN (C) SifeRsry (D) IS
128. Fely Searq T 1S g R 7

(A) glueengR (B) gtz (C) dH foigar (D) Ttueerran
129. Wean sTarifE@drar vivg ol ET ?

(A) &0 Fate (B) =z (C) (D) HrewRE
130. weifar e gl

(A) gReg et (B) wlafay ot (C) weafimh Sfavg (D) wiemifem
131, HOTHET MO wE By 7

(A) Hiex (B) &7 (C) g (D) =
182, wafRdd wrdd wuig gl g,

(A) FTEER (B) TS (C) Shawae (D) TS
133. £ = mc? &1 fagra ivft wiger ?

(A) tfega (B) 3TéTeerdq (C) "ifeAfersty (D) =g
134. wwzreht wieht weren gzram Hisam 7

(A) T (B) HATH C) Taeiums (D) $erfiex
135. “sebroran” R e whmor s 7

(A) de5 (B) wiermmefia s (C) arfifer ey (D) wehTST
136. WWWWWWWW ?

(A) ke (B) IrEH (C) HaTee (D) &’
137. TMie Temefiet wipg gee oy 7 :

(A) T (B) sgom (C) Wre D) feeH
138. grafas o &y 7

(A) TFTEIE ft S (B) S FH e () e A AT (D) e S
139. Sz 777 TR0 e e 7

(A) o= (B) "= () Trafrd (D) TrER
140. WISt s w4t oY vieft wureft ?

(A) FFA ® & (C) =13 sma (D) et
141, wsqre o=t 197 Femmed g 7

(A) §2 (B) sdise (C) ARy (D) Hfrex
142, qeRgned srqun Iy go FlrE ?

(A) Ffm (B) Fartem €) = (D) T A9B
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143.

144,

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

12- LR

e Aerete el sl Fwoird aFeud vl ?

(A) TETHAl (B) faenr (C) qesH (D) FTgBHT
e Tauifig Redi e afcasm e 7

(A) 0° (B) 50° (C) 4° (D) —4°
el Fvre v e st s 7

(A) &I=A (B) et (C) Texar ()REEE
srfreran dret arevara i weled g e S 7

(A) TEHHG (B) =g, (C) DAL, (D) AvaT g
A Ay’ 370 shrvrear dxfin e S ?

(A) arereer defl (B) wre=aT Uslt (C) aafsrelient (D) uidl AT
ECIIGISIREECAOT v Ay siS feeand ) gell CER

(A) T (B) *Hle Sra3TieEe

(C) UTH SRAFTHITE (D) RTUERH HoHTEY
SA=TEr e B

(A) wrofl B) el (©) Tl uared (D) HITH
‘a1 foptur TRUTSH

(A) T qTTE F01 B (B) o yeriled o1 g1

() e sy w1 (D) Torega e eredl €

o arquileer afee eavear gz AR, A a1quifer ehlviET ?
(A) 179 (B) 1/3 (©) 1/4 D) 1/2
e i) i) 1 G, SUrErd JesiA WA 4 e RHTId. & v e 2 A, wurErd Fesw oy et
Antele 7
(A) 1 B) 2 ©) 1/2 (D) 3/4
e viggfa Bt ot @ 39 2h HIR, < e SR ferd ?
1

2 o _
(A) »’;m h (B) ;m

% (C) 2nr?h (D) =mreh

s & fveur spesur yelfeur Y TUTHR 2835 A, 30 gy 35 9N srgeaE Vel gef Y fehd) ay o ld ¢
(A) 5 (B) 11 C) 9 Dy 7

wreren qarare frserear Baored) it e 17 1., 25 W, & 26 . 3, o frsriel & ferdl . sr@e ?
(A) 204 (B) 196 (C) 202 (D) 208

4x2. 18x3 Jrfur 30x yien &4 fa. wiehalehy &viar ?
(A) 540x3 (B) 90x3 ©) 180x8 (D) 180x3

" SPAGE FOR ROUGH WORK
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157.

158.

159.

160.

161

162.

163.

164.

165.

166.

167.

168.

wrefterteh! v o e i ?
2
(A) x+==5 B) (y+3)(y-1)=7
(C) 4m + 1 =m2 D) 2p(p-2)=p+2p2+3
a_s iy & - 3 . \/gd 1 \ﬁ)c - \/bd o
b~ 3 d 5

b JE(.j«

5 8 3 8
(A) :[1—"1 s © T 1 8

6 ® Jis V1s O s

TEHT THS Prenlomeat siaddesreh Brear 7 Q. 1R, e cure Beprorren ulagesredt B e o), et ?

(A) 21 B) 7 (C) 14 (D) 28
SAx=7dy=8;d~|4x - 5y| = forell ?

(A) 12 B) 12 (C) -3 D) 3

L UEP=(3,5 7989 Q={1,2,7) ®HEIP-Q=?

(A) {3,5) (B) {1,2,3,5) ) (7} D) {1,2,3,5,7)
@refierteh) W rade wifwor B 7

(A) 7x+3=0 B) 7y +3=9y-3 (€ )«;1-:-4 (D) x2+5:(x+2)(x+3)
Xl +1Vxil=2?

(A) XXX (B) XIX (C) XVl D)y v
Tt =Tl aftfinet (12x - 20y) St 31, e e e dswes Bt 7

(A) 144x2 - 480xy + 400y2 (B) 9x2 — 15xy + 25y2

(C) 36x2 —120xy + 100y2 (D) 9x2 - 30xy + 25y2

,/131— =108 X = ?

X
(A) 12.1 (B) 0.121 (€) 121 (D) 0.0121

it @l 45 fhull A s e s el R faffer @ Sl s aeh wad 54 B 303 e
Fuffer fosmoft fFraffa Jsm 20 MR west dead, @ fad s vgo siq B 7

(A) 90 et (B) 180 feift
(C) 270 ¥t (D) 75 fershi
1.5 fiffers 12 wraneht quitae fdt 7
(A) 240:1 (B) 1:240 (C) 1:480 (D) 480:1
ST wireerel aroft o fopel) sferrenlien fasmmoft 50 fufer diaad. a woarar uRidse vare 37 B 7
(A) 3+t (B) 4.541
©) 254 (D) 3.5

SPACE FOR ROUGH WORK
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

[T

-14-
M2 _3x8x5")
R 5n+1~3x5n
1 1
A 5 (B) -1 © -3 (D) 1
(2.65)° ~ (1.85)° _,
265185
(A) 1.3 (B) 13 © 4 (D) 0.40
T 9 s 10 FfR welt arwan ava ey 3 e wiendier sl wig et 7
(A) 140° (B) 145° (©) 150° (D) 160°
e srdadeR e qi 72 S sracare ford e T Sd s ?
(A) 693 (B) 1232
(C) 308 (D) 616
A:YF:?
A) G (B) U ©) E ) T
?7:18::64:38
(A) 9 (B) 24 ©) 32 D) 36
3 4 6 5
4 3 2 3
(A) 48 B) 72 () 80 - (D) 40

&/ A1 A e I IS T g—mmwﬁa\m?

4

A g B) -1
Am s

o 27 o7 WA=

(A) 36 (B) 62
78 a1 feriofl = g TRl ?

(A) 13 B) 12
T 21 Jrgae! Brepvl g wor ?
(A) 231 (B) 210

©)

=] ©

C) 54

C) 6

(C) 462

SPACE FOR ROUGH WORK
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180. Wl afesreat uRyTaR e siataer et g Sem uae A foiga siizom streefiel ey Rt Ywrai e adier ?

(A) 21 (B) 12
(C) 15 (D) IhY T
181, =EftEmET wgu 12qr§u}§réﬂﬁaﬁmﬁwﬁmﬁwsﬁmwﬁm%ﬁ,m@mﬁﬁﬁmﬁaﬁﬁ?ﬁa?
(A) 24 (B) 66
(C) 78 (D) T Tt
182. a° =7
(A) O (B) a ©) 1 (D) -1
183, (=1)7 x (=1)5 x (=1)4 x (-1)2 = f&eft 7
(A) 18 (B) -1 ©) 1 (D) I T
184. 23 x 20 (40 - 30) = 9
(A) 23 (B) 22 ) 24 (D) 0

185 14a°% b% ¢ 248 b% ¢? .
' 21a®b* ¢?

4 4 p 4 .
(A) ;;abc (B) —’;bo (C) —ab’c (D) Ebéc

186. 164000 = ?
(A) 1.64 x 105 (B) 16.4 x 103
(C) 1.64 x 106 (D) 16.4 x 105

187. 64000 = (0.4)3 x 10X d{ x = ?
(A) 4 B) 5 €) 6 D) 3

z 1 ~ NN ~
188. 9x" + Pl & el ol a3t Sroarandt wrehadeh Hvd ug fresary ?

(A) +2x B) +3 ©) i:gx D) ig‘
189. (95)2 =t fohma Hevarar v 93 AT ?

(A) (a+b)? (B) (a—b)?

(C) a2-b? (D) adhY =1

190. 89 x 111 &1 miTehTt disfervary wrefietis #Hva g et 7
(A) (a-b)? (B) (a +b)2 (C) a2+ b2 (D) a2 -b2

191, 709 x 25 + 75 x 709 = ?
(A) 709 (B) 7090 (C) 70900 (D) 1568

SPACE FOR ROUGH WORK
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192

193.

194

195.

196.

197

198

199

200

VN AR

-16-
. 999 x385="
(A) 306415 (B) 384615
(C) 384616 (D) 374615
3.29%x32x3.2-24x24x2.4
3.2x3.24+24x32+2.4x2.4
(A) 3.2 (B) 0.8
C) 24 (D) 5.6
. 3,133,333, ... uGEamede ufgedr v e St carel A el 1o, w1 S GGl 43k TTE 3k
T 7
(A) 1 B0
©) 7 (D) 5
1 1 1 1
+ + S -
1x2 2x3 8x4 17x18
35 112184118
) 306 B) yoxge 8
17
© 15 (D) R A1l
L .
1535 85x20 15x20
a1
(A) 1 B) 75
C L Dy O
© 3 D)
D4R« % 2+ = B0B12x UTUYAT « I S chIVAl Fiek Aged 7
(A) 2 (B) 4
€ 5 D) 8
216 7 T frgaTli WU UEe TAHT 3 dvid] ¢
(A) 2 B) 4
C) 86 D) 8
| 221 7 e Freamld T ek CURET 3 hIvidT 7
(A) 8 (B) 6
©) 4 D) 2
4 By sy oy g sordt ?
(A) 32462 (B) 45768
(C) 87542 (D) 75334

SPACE FOR ROUGH WORK



